Direction (1-5): fAeafaf@d Irererl #1 taeqde sreasr fiford 3R A faw are et &
I difare-

3TS SYTF Teh JAThR Aol & IRT R $H YHR 98 & foh $& eI HI AR 3-q@ g Tafh
$ STE 1 3N 307 | af saferd faffiest 3mg & & 3R faffieer it ot o il 2|

F, G % STU & IR T 9T ST §, G Fore dvelr o7 udig &1 A IeRr @ey 981 g ferd § 3R
3 GER HY 9 e & &TU U gFl T R o7 &, 18 I[elrell o1 udie §| a8 st ford
e 39T 9HE &, AW LT YHE et aTel ST & Sleh &IU TUTT WX 3T &1 B 3R E & ALY
&I SfFd S §, E SiT G &7 [shedd 98T g1 F,A & GIT & R T W SaT g1 D hdel died
IfFdal | 981 81 H 30T 11 9HE el aTel Sfed & 910 @ g T W ST gl CF &
BlcT &, difehe DA TSTE| o af B 3R 7 & E 30foia 37 98¢ T §1 g8 §ad oieT giad
&1 T OG XdT & | a8 <Tferd ol ASieT 1T UHG 8, Tad 93 cIiFd o 81h gIu o7

1 E, G QasTg, AftheT H A BIeT 8, H S 3eT 1 31N 37AT § | J916 {97 THe, it arel
cATehd, Hhe LT THG e dTel T & U H I T W IAST & B 31 A Ueh-g@R sl
3R 37 81 D 3R E T g1 e &1 3R 3=7@ & oifehet G & [audIT &1 B, H @ Bler g

QL e # ¥ Flar oY e B =gfFd & 910 A gEX T W daT 2
(a) e 3T GHG el dTell Sferd

(b) a8 BleT safFd

(c) A &TT @ g TUTel T a7 i

(d)G

(e) 3T & g oTar
L1Difficulty 2
QTagsCircular seating arrangement

Q2. faf@a & @ Fia 3T T 7 wHg FA1 27
(a) F

(b) A

(c)C

(d)D

(€) ST & IS et
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Q3. D & vy & A7 & A FIT-9T FUT T AL &2
(a) D S9TAT T J8HE FIAT &
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(b) eIt W1 9HE Fet arelr eafad, D A BleT &
(c)D,Eq &Y
(d) D, F & &TU § g@R ¥ W SoT §

()T aca g
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Q4.9 G F € I A AT sTar g, Y H 3R G F 7ey Faa safFa 3 82
(a) Tsh

(b) et

() TS T

(d)ar

(e) IR & 3w
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Q5. fraY wad 93 IfFa A AT # ¥ -1 T THE B2
(a) =irelr

(b) Thg

(c) Hafer

(d) arerslt

(e) 318 | IS oTEt
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Directions (6-10): Ffaf@d SearY &1 taerqas sreasr Hifad 3 A= faw 3 weat
& 3 S,

Teh 2Teg; iR HEAT cFae AT 7 1 Sl QAeal 3R TEAT3HT T Teh S [T ST &, o a8
Ycdeh TROT A Teh AR AT oh1 31801 i g’(fsré gaftyd ! ¢ | AFIra@d
SAYC 3R YAATEAT &l Ueh 3GGRIT &

ge19c: wonder 37 content 22 15 round 61 student nest 33 young 86

TIOT[: 14 wonder 37 22 round 61 student nest 33 young 86 content

TIOTII: 24 14 wonder 37 round 61 student 33 young 86 content nest

TIOTI11: 32 24 14 wonder 37 61 student young 86 content nest round




YIOTIV: 38 32 24 14 wonder 61 young 86 content nest round student

TIOTV: 62 38 32 24 14 young 86 content nest round student wonder

YIOT VI: 88 62 38 32 24 14 content nest round student wonder young

TROT VI 3TAH =ROT &,

I T 1T =0T # 178707 fohd 91T @t o 37, Feifaf@d uedess ueat # few are
gTgC o foIT ST TROT AT I,

ge4c: 41 forget 75 similar 27 best 34 octal 18 modern 23 parallel

Q6. Fafaf@a & & Fler @1 gorqe F forw ey avor 7

(a) 26 24 20 34 octal parallel best 41 75 similar forget modern
(b) 26 modern 75 similar 34 octal parallel 24 forget 20 best 41
(c) 26 24 20 41 75 similar 34 octal parallel best forget modern
(d) 26 24 20 41 75 similar 34 octal forget modern parallel best

(e) 3TH T FIS gl
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Q7. HFATATET H & 3R SAYC ol A =0T HioT-A1 572
(a) 111

(b) VI

(o 1v

(Vv

(e) 318 F IS AgT
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Q8. afaf@a #ia a1 wor @2

YIOT: 42 36 26 24 20 75 similar best forget modern octal parallel.
(a) VI

(b) III

(v

(dV

(e) THT I TROT ¢ &
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Q9. =T || H g B A qTwal dcd F4T &2
(a) parallel



(b) forget

(c) modern

(d) 41

(e) octal
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Q10. Aw=ifaf@a # & =l a1 aca =T IV & 20 31K Forget & S AT & 82
(a) 41

(b) parallel

(c) Similar

(d) best

(e) modern
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Directions (11-13): &1 71§ SIHIY &I eAE® T¢ 3HR A AT T weat F 3ww difae-
P%Q (10)-P,Q &% 12 AT 3 HE

P$Q (15)- P,Qh17 F AT H g

P#Q(22)-P,Qh 24 Mg A

P&Q (14)-P, Q% 16 AT IRaA H g

A%B (23), D#B (9), C%D (15), E&C (18), F$E (15)

Q11.B & T &, C frg fem 7 82
(a) 3dX

(b) T3

(c) STR-UfEH
(d) SR-gd
() Gi&rur-ufgH
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Q12. F 31X D & 7y forcsll gl 87
(a) 12 #r

(b) 1437
(c) 16HT
(d) 17#Y
(e) 20HT
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Q13.D F eI A E frg fgem & &7
(a) 3dX

(o) o

() ITR-Ufm

(d) aféor-gd

(e) TTH A P el

L1Difficulty 2
QTagsReasoning

Directions (14-15): &1 7§ ITHRT HY LA T 3T AT Rw 7w weat & 3w difSre-

ﬁ@ﬁﬁgAﬁq‘ﬁﬁQﬂﬁ'UMdlQF*(dI%ﬁTﬁngquﬂﬁa?ﬁ'US A g g1 faig B
¥, 98 STU ASAT & 3R 6 # Ieia & 3R foig ¢ WIgaan ¢, I geRT &, Ig 379+ ¢
A ¢ 3R f8ig DR uga=t & fw 8 & erar &1 foig D & g AT &9 & &) 9 &T¢ H3T
& 3R foig E R ugae & forw shaen:10 # 3R 15 2 gerar g

Q14. 7§ig A 3R feig C & ALY 7gTcd g{ foheialt 872

(a) 12 #r

(b) 16HT



(c) 10HY
(d) 15#Y

(e) $TH | I oTeT

L1Difficulty 2
QTagsReasoning

Q15. g D & Hest &, foig E foray fevm # 872
(a) gT@oT-gfeas

(b) 3TR-qd
(g
(d) 3R-9TaH

(e) $TH | I oTeT
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Solutions

Solution (1-5):
Sol.



(White)
A

(Blue) E (Green)
(Pink)C G (Yellow)
. D
(Olive) B (Purple)
(Magenta)

F>C>A>H>D>B>E>G

S1. Ans.(c)
S2. Ans.(a)
S3. Ans.(b)
S4. Ans.(d)
S5. Ans.(b)

Solutions (6-10):

Sol. Students let us understand the Logic behind this Question and lets understand how to
solve it. As a first step lets first understand the logic behind the Output. If you will see the
final output you will observe the following:

(i)- In each step only one word and one number is getting arranged. The words are
arranged in ascending order according to the English alphabetical series from left to right.
(ii)- Numbers are arranged in increasing order from left. If number is prime number add 1
in that number. if number is even (except prime number) add 2 and if number is odd
number (except prime number) subtract 1 in that number. In the final step numbers are
arranged in decreasing order from left end and words are arranged in increasing order.

Input: 41 forget 75 similar 27 best 34 octal 18 modern 23 parallel
Step I: 20 41 forget 75 similar 27 34 octal modern 23 parallel best
Step II: 24 20 41 75 similar 27 34 octal modern parallel best forget
Step I1I: 26 24 20 41 75 similar 34 octal parallel best forget modern
Step IV: 36 26 24 20 41 75 similar parallel best forget modern octal
Step V: 42 36 26 24 20 75 similar best forget modern octal parallel.
Step VI: 74 42 36 26 24 20 best forget modern octal parallel similar
S6. Ans.(c)

S7. Ans.(b)

S8. Ans.(d)

S9. Ans.(e)

S10. Ans.(c)

Solution (11-13):



Sol.

A
E 20m
17m 25m 17m
F B Tim D
S11. Ans.(d)
S12. Ans.(e)
S13. Ans.(c)
Solution (14-15):
So.
15m E
10m
D—2—
6m
A-Sm__B
S14. Ans.(c)

S15. Ans.(b)



